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Algebra 2 - Final EXTRA Review #2

Due:

. Factor: 27b° —

[b 1) (@b -\.m, -\—\\o)]

2. Find the remainder:
(3x* —2%° +x2+5x+10);(x—2)
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3. If-1, 1+ 3i, and 7 are roots of a quartic
polynomial, what is the other rootfe

=3

4. Describe the end behavior of f(x)=3x"-5.

X—= - f(x)> 20 E\lw A
X—+0 f(x)> )
L%

5. Find all the zeros of f(x) = x* - 3x* + 9x - 27
Xt (%-2) +3ke9)
L\/\l-&-ﬂ (x-3) =0
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6. Sketch a graph of a polynomial with the
zerosx=-2,1,3,3

v

7. Solve: x® —4x* —4x >-16 8. Find the values for which the functions is
Xs-k\xb—\\\—\-\‘o)() undefined f(x) = X1 Z
YL~ -4 (xY) >0 X' X~
(=) ) > % -
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9. Simplify f(x) = 2 7 10. Add 53
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1. Dividex2+x 12+x X—6 12. Solve :3+i
x2+6x+8  x?+2x TR Ko
(N) xort) M 1x = 3~-\ )
X oo A=y .
Y+2 R =]
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13. Find the hole f(x])= % X =2/
X* +15x + 54

N \\"3) _.l}.
MKXA-Q B

14. Find the equation of the slant asymptote
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X“+3X-5 __1! \ 2 ~S
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15. Find the x-intercepts and the y-intercept

2
of f(x)= X%X—IQ

X =2
K1) Ger3)

x-tnk (W0) (-3,0)
\[=ar (0,6)

16. Determine the horizontal and vertical
6X+5
3x -1

asymptotes of f(x)=
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17. Find the
domain and
range of the
function.
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18. Find the domain and range of

fix) = —J[x-2) +5 § -
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19.Solve y11x -8 =x+2

W-32 XU auna N
-\~ ¥y =\ ¥8

————— R —

O = N -0l

0= (X-4)(x-3)
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20. Find the starting point of

fix)= —J@ -7
G5
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21.Solve -3(x+2)"°* =12

KX-\-‘L)\,:‘ PRk
\1;:7} 1 XL W

22. Condense the following:

%Iogx+3logz—logy—|093

,Q(S ‘.\,I” ) Qo\ ‘&1- “%\) \, -—anl
Ya._.,,}f;?'_%_i

23. Graph the function and state the domain and
.| x=1 \A

range: y =| —
ge:y (3] \

\

24. The number of bacteria N in a culture is

given by the model N = 120e%* where
tisin hours. Find the number of bacteria
after 8 hours.

35 (8)
\W0e

\N*—:'\ 8lp .4

25.5olve: log,(x+2)-7=-4
QQ}‘ \xx 1—\ =

xrr =W

Y=t \\= 61

26.Solve: €* +5=12
2
e =1

17\:9%‘)

\x= 0413 |

27.1f $1800 is invested at a rate of 14%
compounded continuously, Find the
balance in the account after 8 years.
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28. Identify if the following are increasing or
decreasing.

a.y= QPJH bcgm;;.\ﬁ

&

b. y =6(2) ’E‘U‘""\K

29.Solve: 9% = 27*2
T\ ¥ 3 b T
=)
Y% Ix¥b
3 B =T
Bx = 3x+4 \

30. Write the standard form of the equation of
an exponential function with a base of 10,

y = 10%, that has been reflected over the y-
axis, shifted left 3, and up 3.

Y= 1?3 ]
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31. What th luti f th ti —2i
oL T ST Tk ERAEEISH 32, Sttty fhe fraetion S—a. i
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33. Solve the equation: %xz +3=-8

A g b= - \\(‘*'rZ.LJ_ﬂ‘[
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34. Use the quadratic equation to solve the
following: X*+6x—5=0
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35. What number would we need to add to
x* +8x =10 if you want to complete the

square? \ MoL \\g |

36. Find the x-intercepts for the following
equation: X* +2x-15=0

e ) R»—S,Q) (3, oﬂ

37. A normal distribution has a mean of 30
and a standard deviation of 6. Draw the
normal curve and find the probability

RS etween 18 and 36.
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38. A normal distribution of ACT scores has a
mean score of 18 and a standard deviation
of 6. Within what range do about 95% of

the scores fall?
V" Yo I
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39. List the 6 types of Sampling Methods (be
able to give an example of each)

40. Where is the graph y
decreasing?

Fe2,) |

41. Find the sum of the first 10 terms of the
sequence -1,-4,-16, -64, ....
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